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1. (20 pts) Solve the equations.

2z + 7

a)y = .
OF S
,_dzytztz

)y = 1422

2. (20 pts) Find the general solution of the system

x’(t)=(f1 ,},)x{t)-z-(c‘:}st).

3. (20 pts) Find the solution of the equation

{ 22y + 3z’ — 3y = 2Ing,
¥(2)=0, y'(2) =1

4. (20 pts) Supppose that 4/(z) is continous for = € R. Find all solutions of
WY +{" —z ~ 1)y —a(e" ~1) = 0.
5. (20 pts) Let

Po(t) =0, dpna(t) = fa s¢p(s)}ds+1, n=0,1,2,3,.--.
0

{2} Show that 0 < ¢,(t) S 2for 0 <t < 1.
(b} Show that Ym0 ¢n{t) exists for 0 < ¢ < 1.
() Find limp_e0 ¢a(t) for 0 < £ < 1.
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